20214 055 21H
(Gage) s Rt T (EFT ) i XRE=ERT =T F 1267411
A )R At

T 7 ENFE 5 ST A1 5 2 4 2 HOMUEIC L0 . RO LB Y WE LET,

20214 054 210  ( & WEH K= =Y )
HIEH R 0.2 b

A= GRS U wvi L] AL RGPS iG]

oo | it £ e wm W i ST

i Kg 200.0 Ke Kg

. 5 " ek (1)
B4 EEREs | G B — e o 5 &

W OIEH Mo h 190 Kg 1,393 1,285

¥ H U Kg

= X Kg

T H DU Kg

»noo B Kg

= A F Kg

= = R 5% Kg

FIEESA Kg

AN A Kg

Wb L Kg

5 ) Kg

7= z Kg

m X T Kg

wom s E Kg

moa o Kg

MREALTES Kg

Box Kg

T & U 5

3 0z Kg

TSAE 58

AN 5




20214F 05H 21H
Gase) NIRTHEEERA=E #T P M7 BT = T F 126401
S ST e

UG 7 7 B TS 5 R BI5E 5 2 SR/ 2 HOBUEIZ LY, RO LBV HMEL LT,

20214 054 210 ( & WEH K= =Y )
HI7EH R 10.3 kv

FEEIG D H O wveE ] AL A FRxEGI

| it fa A mo W e T

i 3,000.0 Keg 1, 000.0 Kg 6, 300. 0 Kg

. = L Ezesks (1)
B4 EmnEs | 9k B — e = 5 &

W DL H Kg

F b U oM 110 Kg 2,376 432 173

X X T+ ¥ 20 Kg 4,104 3, 780 1,188

ERALARYE S N 10 Kg 6, 264 5, 940 5,508

noo B T+ ¥ 120 Kg 540 313 216

= A F Kg

X F b Kg

FIEE <A Kg

AN ST T 3 170 Kg 648 540 378

Wb L ST 12 10 Kg 1, 620 279

BN U) S N 410 Kg 1, 642 1,512 1,026

7= z b v & 290 Kg 2, 430 2,322 1, 404

mwo ST b W E 170 Kg 15, 876 1, 350 1, 102

m s x I = — 20 Kg 756

ST SRTAN/N N A 40 Kg 7,776 7,074 3, 402
MREALTES T T AN 20 Kg 15, 660

Box Kg

B+ & U ¥

Iz b W B 20 Kg 238 216

TSAE 58

R T8 AN 380 ¥ 221 77 59




WAEE (05H 22H%Y )

20214 05H 21H

(sise) JISTS RS FERT 1M =5 AT = T 1 126 7401
A%k IR FLFERR NS A
JING M T EFe B ERIES 25F 1HOHATEICLY ., ROEBYHREL F1,
BV 5RO HE
i £ H5E ¥ EE & TR PEH
» o b
AN H 0
AFLDF1E
ih 4 E7e T EE & EE e
N 7 0
FEXRFEG | D J5 ik
ih 4 ENFE T EE & EE e
»oiE b
f » U 100 Ju AN
SR VAV
N oo B
FEBREKRBER) & D 4, 850
R ST 50 T T AL
mEm s E 50 I o —
T 5 DU 50 AN =
WmEALTED 50 T T AA
R IKEEM) & DL 2,900
WX 100 IV = —
T Wz 50 i W E
EESE 50 b HE
BT IAE
IR EEM Z DAt 14, 600
/7 Fia 22,900
i it 22,900




